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Tick the correct Answer:
What did the crocodile get from the monkey everyday?
a. Mangoes b. Grapes c. Jamuns d. Apples

What name is given to Abdul Hamid's village?
a. Abdul Nagar b. Hamid Nagar c. Hamid Dham
b. d. Shorya Nagar.

The poet's prayer to God 'may his tribe increase' refers to :
a. Abou b. Angel c. Anyone who loves God
b. d. Anyone whom God loves.

Which is the most important time?
a. That which has passed b. That which is to come
c. That which is going on now d. None of these.

How many lions are there in our National Emblem?
a. One b. Two c. Three d. Four

In the poem "This is my prayer to Thee", the poet prays to God to strike
at the root of penury in his heart because:

a. He wants to become rich.

b. He wants his heart to be full of goodness and nobility.

c. He wants to get rid of the disease of his heart.

d. He wants to become more powerful.

How did Robin spend most of his time?
a. Playing with friends.

b. Reading books.

c. Sleeping.

d. Fighting with others.

What was the name of Krishna's elder brother?
a. Balrama

b. Braj

c. Gokul

d. Nanda



10.

11.

12.

13.

14.

15.

Where is Jallianwala Bagh situated?

a. Amritsar

b. Delhi

c. Anandpur Sahib

d. Ludhiana

What do the people of the area still believe?
a. Lucy is still alive.

b. Lucy's friends are still alive.

c. Lucy's parents are still alive.

d. None of these.

Gandhiji did not copy the correct spelling because:
a. He was against copying.

b. He was against his teacher.

c. He might be punished for copying.

d. He was very shy.

Who said these words, "The appointed day has come, the day
appointed by destiny and India stands forth again, after long slumber
and struggle, awake, vital, free and independent ....."?

a. Mahatma Gandhi

b. Swami Vivekananda

c. Pandit Jawaharlal Nehru

d. Dr. Radhakrishnan.

The things in a grocer's shop are from several countries. This shows
that:

a. There is a competition among various countries.
b. Life standard of people is rising.

c. The world is becoming a single whole, a unity.
d. Means of transport have developed.

Which is the biggest danger to mankind?

a. Poverty

b. llliteracy

c. Population

d. Atom bombs

Who has written the poem " He That Is Down Needs Fear No Fall"?
a. John Bunyan

b. Ben Jonson

c. Rabindra Nath Tagore

d. William Wordsworth
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20.
21.
22,
23.
24,
25.

Do as directed:

My teacher me a lesson yesterday (Fill in the blank with

appropriate verb form of teach).

Ram is than Sham (Fill in the blank with appropriate degree of
intelligent).
Which is your sport? (Complete the question with a suitable
adjective).

I mangoes. (Supply a suitable verb).

We are eating apples. (Change into past continuous tense).
I a movie for a long time (not see).
moon revolves around the earth (A/The).
elephant cannot fly (A/An).
We play football (change the voice).
Are you reading a book? (Change the voice).
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